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4 KE AR
(1) (R HRALE K

Ia H | Ehy | (e 44 54 6 H 7H 8 H H__ 10H 11H 124 14 2H 3H
[ IMH - bH2IH [6H19H [7H21H [8H 200 [ 917 H JI0OJ IS H[IIA19 - - - —
i o B H - 650 | 730 [ 8H5H [ 9HA7H [9H30H [10/J30H]12H7H - - - -
IKEAL VS 5.8~8.6 - 8.4 8.6 7.5 7.6 7.4 7.7 7.7 — - - -
BOD mg/1 60 - 0 0 0 0 0 0 2 - - — -
COD mg/1 = - 4 4 2 2 2 2 3 - - - -
SS mg/1 60 — 1 1 1 9 3 7 1 - - - -
DER me/] — — 5.40 65 1.72 2.13 2.40 2.96 3.78 — — — —
A H - - 6H18H — — — — — — — - -
i A P - - TH10H - - - - - - - - -
BRIV LR OZDOLEY] meg/l | 0.03 — — <0.003 - - - - - - — - -
T ALY mg/1 1 - - <0.05 - - - - - - - - -
B S mg/1 1 - — <0.1 - - = = — = = = =
R O DL E mg/l | 0.1 - - <0.005 - - - - - - - - -
N A= | Rt 7] mg/l | 05 - - <0.02 - - - - - - - - -
MEXOLOMEY | me/l | 0.1 - - 0.013 - - - - - - - - -
ABEROT VI APEOMOKGUEEM]  mg/] 0.005 — — <0.0005 — — — — — — — — —
TV IR S mg/] | e - - g - - - - — - - - -
RUELE T ==L mg/1 | 0.003 — — <0.0005 - - - — - - - - -
NUEEES A mg/1 0.1 - - <0.0005 - - — — — - - - -
CASUEES a0 mg/1 0.1 - - <0.0005 - - - - - - - - -
DA% mg/1 0.2 — — <0.0005 - - - - - - - - -
e e mg/1 [ 0.02 - - <0.0005 - - - - - - — — —
1,2 /aaxhy mg/1 | 0.04 — — <0.0005 - - - - - - - — —
1,1-Y/eucFLy mg/1 1 - — <0.0005 - - - - - - - — —
Y A-1,2—Y JEUTFL mg/1 0.4 — — <0.0005 — = - = - = = - —
L1, 1-F/aexdy mg/1 3 — - <0.0005 - - — = = = = = =
1,1,2-F)yonzyy mg/l | 0.06 — — <0.0005 - - - — - - - - -
13— /an7u~y mg/1 | 0.02 - - <0.0005 - - — — — - - - -
FIT A mg/l | 0.06 — — <0.006 - - - - - — — — -
D mg/1 | 0.03 — — <0.003 - - - - - — - - -
FA TV T mg/1 0.2 — - <0.0006 - - - - - - — — —
NP mg/1 0.1 - - <0.0005 - - - - - — — — =
ELUKROZDEY | mg/l 0.1 — — <0.001 — — — — — — — — —
io%&(}%aﬂf\% mg/1 50 — — 0.42 = = - = - = - — —
SZ K OZDEY | mg/l 15 — — 0.25 — — — — — — - - -
LA4-A XY mg/1 0.5 — — <0.005 - - - - - — — - -
) —)LIH mg/1 5 — - <0.5 - - - - - — — - =
M O DA mg/1 3 - - <0.02 - - = = = = = = =
Fikan &U%Mh/\% mg/1 2 — — <0.01 — Z — - = - - - —
BB OO GRS | mg/1 10 - — <0.02 — — - - - - - - —
~ B R OEDLE (i) | me/l 10 - - <0.01 - - - - - - - -
78 LM OZDEY | mg/l 2 — - <0.02 - - - - - — — — -
TURST R, TSR ORI R A R me, 1 200 - - 3.9 - - - - - - - — —
2z~ AR T me/l 5 - - A - - - = = = = = =
T H — - 6180 - - - - - - - - —
i R B — - 7TH10H - - - - - - - - -
B AFZX U HE [pe-TEQ/L] 10 0.000097 - - - - -
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(2) K ()

TE H | A N H 5H 6 H 74 8 H H 10H 11H 124 1H 2H 3H

FEICH 427TH [ 6210 [6HI0H [ 7H2IH [ 8200 [9HI7H J[I0JI5H[IIHI9H — — — —

i o A H 4H27TH | 6H5H | 7H3H [ 8H5H [ 9H7H [ 9H30H [10H30H[12H7H - - - -

| FaaEER [ nS/m [ - 4.1 2.5 3 3.3 2.3 3.7 3.2 3.5 = — - =
[ HHH - - 6 18H - - - - - - - - -
i A U H - - 7THI0H - = = = - - - - =

7 )L )L K ER me/l |misnzoce — — A HY — — — — — — — — —
KR mg/l | 0.0005 - - <0.0005 - = — — — = — - =

HEIV A mg/l | 0.003 - - <0.0003 - = — — = = - - —

o mg/I 0.01 - — <0.001 — — — — — - — - —

AN AT mg/] 0.05 — — <0.005 — — — — — - — — —

i mg/] 0.01 — — 0.001 — — — — = - — - —

BTV mg/] |mitshmoce - - A kg H — — — — — — — — —

RV T =)L meg/] | msnmozs — — e — _ _ — — _ _ — —
NEES mg/l | 0.01 - - <0.0005 - = — — — = - - —
S mg/l | 0.01 - - <0.0005 - = — — = — - - -
D=y % mg/1 [ 0.02 - — <0.0005 — = — — = — - - —
RERAres mg/l [ 0.002 - — <0.0002 - = — — — — - - -
1,2=/anIhy mg/l | 0.004 - - <0.0004 = — - — — = — — -

1,1 /auxFLy mg/1 0.1 - - <0.0005 - - - - - - - - -

L2y pensly (AR Or AEoasm | me/l 0.04 — — <0.0005 - - — — — — — — _
1,1,1-N)Joazsy mg/1 1 - - <0.0005 - = — — = — - - -
1,1,2-F/unzdy, mg/1 [ 0.006 - — <0.0005 — = — — = — - - —
1,3—v7an7u~"y mg/l | 0.002 — — <0.0002 - = — — — — - — -
FIZ A mg/1 | 0.006 - - <0.0006 = — - — — = — — -
S~ mg/l [ 0.003 - - <0.0003 - = — — — = — - -

FA TN T mg/l | 0.02 - - <0.0006 - = — — — = - - -

~ P mg/l | 0.01 - - <0.0005 - = — — = — - - -

Az mg/1 [ 0.01 - — <0.001 — = — — = — - - —
LA-AxH mg/l [ 0.05 - - <0.005 — = — — = — - - —

[ = F/)~— me/l | 0.002 - - 0.0002 - = — - — = = — —
L H = = 6 18H - — - - - - — — —

i o A H — - 7TH10H - - - - — = — — =
HAAI A [pe-tEQ/L] 1 - — 0.046 — - — — — — — - -
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(3) HuF7K (Fit)

I8 H | Eifr | FEvE(E H 5 H 6 H 7H 8 H H 104 114 124 1H 2H 3H

T H A2TH [ GH2IH [ 6HI0H [ 7H2IH [ 8H200 [9HI7H JI0OHIbO[I1H19H - - - -

Hit S e H 4527 650 [ 7730 [ 850 [ 9H7H [9H30H J10H30H] 12H7H — - - -

BB R [ mS/m [ - 8.3 5.3 7.7 5.0 4.1 3.9 4.4 3.7 — — = =
PR H = = 6o 18H - - - = - - - - -

i A B H - - THI10H - - - - - - - = -

7 IV LK ER mg/l [mesamoce — — e = = — = = = = — =
KK ER mg/1 | 0.0005 - - <0.0005 - - - — — — — — —
HEIT L mg/1 | 0.003 - - <0.0003 - - - - — — = — =

& mg/l [ 0.01 - — <0.001 - - - - — — — — -

N A mg/l | 0.05 - = <0.005 - - = — — - = — -

itk == mg/1 0.01 — — <0.001 — - — — — — — — —
BT mg/] |misnmoze — — e HY — — — — — — — — —
R E T =)L me RS — - e HY — — — — — _ _ — —
SVETES mg 0.01 = = <0.0005 - - - - - - = = =
S IEES 0% mg/1 | 0.01 - - <0.0005 - - - - - - — = =
DI aaAR mg/1 | 0.02 - - <0.0005 - - - - - — — — =
R ArES mg/1 | 0.002 - - <0.0002 - - - — — - — = -
1,2-Y Jaaxhy mg/1 | 0.004 - - <0.0004 - - - - - - = — =
1,1-/eaxFLy mg/1 0.1 - - <0.0005 - - - - — - = — =
12—y ymnfvy AR ON Akoai | me/] 0.04 - - <0.0005 - - — — — — — — —
1,1,1-NJnrxdy mg/1 1 - - <0.0005 - - - - — — = — =
1.1.2-R/anzhy, mg/l | 0.006 - - <0.0005 - - - - - — — — =
1.3— /a7 u~y mg/l | 0.002 - = <0.0002 - - = - - — — — -
FTIZ A mg/l | 0.006 - = <0.0006 = = - = - — - -~ —
e mg/l | 0.003 = = <0.0003 = = = = = — — — -
FAXTIINT mg 0.02 = = <0.0006 = = = = = = = = —
P mg 0.01 = = <0.0005 - - - - - - = = =
Az mg/1 | 0.01 - - <0.001 - - - — = = = = =
L4-FAxH mg/1 | 0.05 - - <0.005 - - - = — - = — =
| Elle = e — me/l1 | 0.002 - — <0.0002 - - — - — = = = =
FEE H = = 67 18H - - - - - = = = =

i e U= H — - THI0H - - - — - - - - -

EATX [peTEQ/L] 1 — — 0.043 - - — — - - — — -




